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QUESTION 1

The table below shows the costs and savings associated with a project. In which of the following years does the project
break even?

Item Year 0 Year 1 Year 2 Year 3 Year 4
Hardware £250,000 |£0 £0 £0 £0
Software Acquisition |£75,000 |£0 £0 £0 £0
Maintenance £10,000 |£11,000 |£12000 [£13,000 |£14,000
User Training £5,000 |£0 £0 £0 £0
Savings £40,000 |£100,000 [£100,000 [£100,000 |£100,000

A. Year 2.

B. Year 3.

C. Year 4.

D. The project does not pay back within the four year period.

Correct Answer: C

QUESTION 2

Cars, trucks and motorbikes are all types of vehicle. What structure could be used on a class model to model this?
A. Generalisation

B. Association class

C. Exclusivity relationship

D. The construct

Correct Answer: A

QUESTION 3

Which of the following statements is TRUE?

A. The IRR of every project is based on it achieving a Net Present Value of zero.

B. It is preferable for the calculated IRR of a project to be below bank interest rates,

C. Discounted cash flows do not usually take into account the time value of money.
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D. When comparing two projects, the one with the lower NPV should be preferred.

Correct Answer: A

QUESTION 4

Which of the following is an example of \'Individual Tacit Knowledge\\'?
A. Culture.

B. Process.

C. Norms.

D. Intuition.

Correct Answer: D

QUESTION 5

As part of an investigation, a business analyst has asked a business user to keep track of the actual tasks they carry out
over a period of time. What is this investigation technique called?

A. Shadowing.

B. Prototyping.

C. Special purpose records.
D. Activity sampling.

Correct Answer: C
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